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Q.20 Which of the following defines a progressive classrooms?
Options 1. Decontextualized curriculum
2. Learning for exams
3. Teacher centric pedagogy
4. Focus on experiential learning

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q21 srfimra (A): ot T =1 1o T, v Tt w1 oo feniiet e guiEt o saet w e
HYe = 3 TeTT iewTree ST =)
T (R): T TaTewon et wosreard it \ee & g e 7 e #
wet e =1

P (A) ¥ (R) T EE E AR (R) TR s E (A)
2 (A) 3 (R) 39T & & it (R) Bt S et 2 (A)
3 (A) ¥R (R) T 7o 2

4 (A) W B S (R) TeE 2

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.22 e e 3wty e 3 erem Pt & 9 wi-a S g R S sty e s
SR e 27

Options 1.

fE T TR — Mo, ol stgarer svre - fraes

2.
TG, T T — HIT9eF, 7 A AT FHTaAT - T

3.
TS, T TR — IR TS AEATeaha, 3707 AT STTUTer HHIa — T

4.
qfg T T — FATI, AR ST SHTET — ST

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.23 i st TeTATE T SRS AT & 3 Sl WA (7o o =T =i B S T e e et 2
PPN, gt S et

2. a@ﬁﬂ@gﬂmwl

3. STATERT H 379 T3haT F05h|

4.
U © SIAET T JTe SATeRal 3 @Y ST 19 f5haT Fer

Question Type : MCQ
Status : Answered
Chosen Option: 3




Q24 = (A): 5= WET & W 7 WG U SR TE S 7 AN
T (R): T ot oA W w5 S g E- s e, S e e w5 g
w farmew =1

Options1_ (A}aﬁ_{{R]a:ﬁ_W%j
2 (A) 3T (R) THT |ET £ &7 (R) & AT FATE (A) Fll
3. (A) TE B SRR (R) T 2

4. (A) ST (R) AT Wt 8 =ifeh (R) el sAmean 81 2 (A) 3|

Question Type : MCQ
Status : Answered
Chosen Option: 2

Q.25 With respect to inclusion of students with disabilities in regular schools, which of the
following provision is against the Rights of persons with disabilities Act (2016)?

Options 1. Extra time for completion of examination paper

2. Reasonable accommodation as per individual's needs
3. Facility of scribe to meet the students' needs

4. Compulsory second and third language courses
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Q.30 Which of the following learning disability directly affects communication skills and
comprehension abilities?

Options 1. Dyscalculia
2. Dysphasia
3. Dysgraphia
4. Dysphoria
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by selecting the correct/most appropriate
options.

Language is more than simply a means of exchanging
information.

It is also a medium of art, humour, poetry, storytelling and
oratory. It gave our ancestors, as it gives us, a means to display
themselves. Language may have helped our ancestors to
cooperate, but at least as important, it gave them new ways to
compete. With language we have acquired a powerful new tool
with which we can try to outmanoeuvre and out manipulate one
another. If you want to engage in social climbing, you had better
hone your language skills.

I want to understand the emergence of language as one aspect of
evolution of our minds, by which our minds can build
increasingly complex social relationships. The better we
understand the evolution of our minds and social relationships,
the better we will understand the emergence of language.

The question of whether language emerged gradually or suddenly
has generated more debate than it should have, among students of
language evolution. Some, particularly linguists, are so impressed
by the uniqueness of language and by the interdependence of its
parts, that they have argued that it must have arisen quite

suddenly. Dereck Bickerton once even insisted that the most
important aspects of language, in particular its syntax, could only
have come about as the result of a single crucial mutation.

Others, particularly primatologists who have searched for
continuities between ape and human communication, have argued
that language must have developed slowly and incrementally. I
side with the gradualists, not because I want to derive language
from primate calls, but because I believe that this is the way
evolution works.

Wings distinguish birds from reptiles as sharply as language
distinguishies human beings from other primates, and the parts of
a wing are as interdependent as the parts of language, but nobody
would argue that wings were achieved by a single mutation. Of
course, we now have fossils that show us some of the steps by
which front legs evolved into wings, but even without the fossils
we would be certain that there were, once upon a time, animals
that were intermediate between walking reptiles and flying birds.
We will never have fossil evidence for language.

SubQuestion No : 1

Q1 What is the writer’s opinion about the evolution of

language?
1. It is unique.
2. Gradual evolution
3. Single crucial mutation
4. Itisatool of power
Options 1. 1
2.2

3.3
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by selecting the correct/most appropriate
options.

Language is more than simply a means of exchanging
information.

It is also a medium of art, humour, poetry, storytelling and
oratory. It gave our ancestors, as it gives us, a means to display
themselves. Language may have helped our ancestors to
cooperate, but at least as important, it gave them new ways to
compete. With language we have acquired a powerful new tool
with which we can try to outmanoeuvre and out manipulate one
another. If you want to engage in social climbing, you had better
hone your language skills.

I want to understand the emergence of language as one aspect of
evolution of our minds, by which our minds can build
increasingly complex social relationships. The better we
understand the evolution of our minds and social relationships,
the better we will understand the emergence of language.

The question of whether language emerged gradually or suddenly
has generated more debate than it should have, among students of
language evolution. Some, particularly linguists, are so impressed
by the uniqueness of language and by the interdependence of its
parts, that they have argued that it must have arisen quite

suddenly. Dereck Bickerton once even insisted that the most
important aspects of language, in particular its syntax, could only
have come about as the result of a single crucial mutation.

Others, particularly primatologists who have searched for
continuities between ape and human communication, have argued
that language must have developed slowly and incrementally. I
side with the gradualists, not because I want to derive language
from primate calls, but because I believe that this is the way
evolution works.

Wings distinguish birds from reptiles as sharply as language
distinguishies human beings from other primates, and the parts of
a wing are as interdependent as the parts of language, but nobody
would argue that wings were achieved by a single mutation. Of
course, we now have fossils that show us some of the steps by
which front legs evolved into wings, but even without the fossils
we would be certain that there were, once upon a time, animals
that were intermediate between walking reptiles and flying birds.
We will never have fossil evidence for language.

SubQuestion No : 2

Q@2 Which word comes closest in meaning to “display” as used
in the beginning of the passage?

1. to hide
2. to be visible and present
3. tofoldup
4. to exemplify
Options 1. 1
2.2

3.3
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by selecting the correct/most appropriate
options.

Language is more than simply a means of exchanging
information.

It is also a medium of art, humour, poetry, storytelling and
oratory. It gave our ancestors, as it gives us, a means to display
themselves. Language may have helped our ancestors to
cooperate, but at least as important, it gave them new ways to
compete. With language we have acquired a powerful new tool
with which we can try to outmanoeuvre and out manipulate one
another. If you want to engage in social climbing, you had better
hone your language skills.

I want to understand the emergence of language as one aspect of
evolution of our minds, by which our minds can build
increasingly complex social relationships. The better we
understand the evolution of our minds and social relationships,
the better we will understand the emergence of language.

The question of whether language emerged gradually or suddenly
has generated more debate than it should have, among students of
language evolution. Some, particularly linguists, are so impressed
by the uniqueness of language and by the interdependence of its
parts, that they have argued that it must have arisen quite

suddenly. Dereck Bickerton once even insisted that the most
important aspects of language, in particular its syntax, could only
have come about as the result of a single crucial mutation.

Others, particularly primatologists who have searched for
continuities between ape and human communication, have argued
that language must have developed slowly and incrementally. I
side with the gradualists, not because I want to derive language
from primate calls, but because I believe that this is the way
evolution works.

Wings distinguish birds from reptiles as sharply as language
distinguishies human beings from other primates, and the parts of
a wing are as interdependent as the parts of language, but nobody
would argue that wings were achieved by a single mutation. Of
course, we now have fossils that show us some of the steps by
which front legs evolved into wings, but even without the fossils
we would be certain that there were, once upon a time, animals
that were intermediate between walking reptiles and flying birds.
We will never have fossil evidence for language.

SubQuestion No : 3

@3 According to the passage, social climbing is directly
proportional to:

1. Skills
2. Language Polishing
3. Syntax
4. Art of storytelling
Options 1. 1
2.2

3.3
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by selecting the correct/most appropriate
options.

Language is more than simply a means of exchanging
information.

It is also a medium of art, humour, poetry, storytelling and
oratory. It gave our ancestors, as it gives us, a means to display
themselves. Language may have helped our ancestors to
cooperate, but at least as important, it gave them new ways to
compete. With language we have acquired a powerful new tool
with which we can try to outmanoeuvre and out manipulate one
another. If you want to engage in social climbing, you had better
hone your language skills.

I want to understand the emergence of language as one aspect of
evolution of our minds, by which our minds can build
increasingly complex social relationships. The better we
understand the evolution of our minds and social relationships,
the better we will understand the emergence of language.

The question of whether language emerged gradually or suddenly
has generated more debate than it should have, among students of
language evolution. Some, particularly linguists, are so impressed
by the uniqueness of language and by the interdependence of its
parts, that they have argued that it must have arisen quite

suddenly. Dereck Bickerton once even insisted that the most
important aspects of language, in particular its syntax, could only
have come about as the result of a single crucial mutation.

Others, particularly primatologists who have searched for
continuities between ape and human communication, have argued
that language must have developed slowly and incrementally. I
side with the gradualists, not because I want to derive language
from primate calls, but because I believe that this is the way
evolution works.

Wings distinguish birds from reptiles as sharply as language
distinguishies human beings from other primates, and the parts of
a wing are as interdependent as the parts of language, but nobody
would argue that wings were achieved by a single mutation. Of
course, we now have fossils that show us some of the steps by
which front legs evolved into wings, but even without the fossils
we would be certain that there were, once upon a time, animals
that were intermediate between walking reptiles and flying birds.
We will never have fossil evidence for language.

SubQuestion No : 4

Q4 In the light of the above passage, what has been the primary
task of the primatologists?

1. to establish linkages between ape and human
communication.

to issue statements on disruption of evolutionary
process.

3. to study fossils.

4. to discount the process of Evolution.

[

Options 1. 1




2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by selecting the correct/most appropriate
options.

Language is more than simply a means of exchanging
information.

It is also a medium of art, humour, poetry, storytelling and
oratory. It gave our ancestors, as it gives us, a means to display
themselves. Language may have helped our ancestors to
cooperate, but at least as important, it gave them new ways to
compete. With language we have acquired a powerful new tool
with which we can try to outmanoeuvre and out manipulate one
another. If you want to engage in social climbing, you had better
hone your language skills.

I want to understand the emergence of language as one aspect of
evolution of our minds, by which our minds can build
increasingly complex social relationships. The better we
understand the evolution of our minds and social relationships,
the better we will understand the emergence of language.

The question of whether language emerged gradually or suddenly
has generated more debate than it should have, among students of
language evolution. Some, particularly linguists, are so impressed
by the uniqueness of language and by the interdependence of its
parts, that they have argued that it must have arisen quite

suddenly. Dereck Bickerton once even insisted that the most
important aspects of language, in particular its syntax, could only
have come about as the result of a single crucial mutation.

Others, particularly primatologists who have searched for
continuities between ape and human communication, have argued
that language must have developed slowly and incrementally. I
side with the gradualists, not because I want to derive language
from primate calls, but because I believe that this is the way
evolution works.

Wings distinguish birds from reptiles as sharply as language
distinguishies human beings from other primates, and the parts of
a wing are as interdependent as the parts of language, but nobody
would argue that wings were achieved by a single mutation. Of
course, we now have fossils that show us some of the steps by
which front legs evolved into wings, but even without the fossils
we would be certain that there were, once upon a time, animals
that were intermediate between walking reptiles and flying birds.
We will never have fossil evidence for language.

SubQuestion No : 5

Q5 What does ‘gradualists’ stand for?

1. Primatologists
2. Scientists
3. Researchers
4. Teachers and Academicians
Options 1. 1
2.2
3.3

4.4
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by selecting the correct/most appropriate
options.

Language is more than simply a means of exchanging
information.

It is also a medium of art, humour, poetry, storytelling and
oratory. It gave our ancestors, as it gives us, a means to display
themselves. Language may have helped our ancestors to
cooperate, but at least as important, it gave them new ways to
compete. With language we have acquired a powerful new tool
with which we can try to outmanoeuvre and out manipulate one
another. If you want to engage in social climbing, you had better
hone your language skills.

I want to understand the emergence of language as one aspect of
evolution of our minds, by which our minds can build
increasingly complex social relationships. The better we
understand the evolution of our minds and social relationships,
the better we will understand the emergence of language.

The question of whether language emerged gradually or suddenly
has generated more debate than it should have, among students of
language evolution. Some, particularly linguists, are so impressed
by the uniqueness of language and by the interdependence of its
parts, that they have argued that it must have arisen quite

suddenly. Dereck Bickerton once even insisted that the most
important aspects of language, in particular its syntax, could only
have come about as the result of a single crucial mutation.

Others, particularly primatologists who have searched for
continuities between ape and human communication, have argued
that language must have developed slowly and incrementally. I
side with the gradualists, not because I want to derive language
from primate calls, but because I believe that this is the way
evolution works.

Wings distinguish birds from reptiles as sharply as language
distinguishies human beings from other primates, and the parts of
a wing are as interdependent as the parts of language, but nobody
would argue that wings were achieved by a single mutation. Of
course, we now have fossils that show us some of the steps by
which front legs evolved into wings, but even without the fossils
we would be certain that there were, once upon a time, animals
that were intermediate between walking reptiles and flying birds.
We will never have fossil evidence for language.

SubQuestion No : 6

Q6 What according to the author, leads to establish that
language evolution took place in a practical way?

1. Oratory
2. Reptile fossils
3. Interdependent aspect of language
4. Flying birds
Options 1. 1
2.2

3.3
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by selecting the correct/most appropriate
options.

Language is more than simply a means of exchanging
information.

It is also a medium of art, humour, poetry, storytelling and
oratory. It gave our ancestors, as it gives us, a means to display
themselves. Language may have helped our ancestors to
cooperate, but at least as important, it gave them new ways to
compete. With language we have acquired a powerful new tool
with which we can try to outmanoeuvre and out manipulate one
another. If you want to engage in social climbing, you had better
hone your language skills.

I want to understand the emergence of language as one aspect of
evolution of our minds, by which our minds can build
increasingly complex social relationships. The better we
understand the evolution of our minds and social relationships,
the better we will understand the emergence of language.

The question of whether language emerged gradually or suddenly
has generated more debate than it should have, among students of
language evolution. Some, particularly linguists, are so impressed
by the uniqueness of language and by the interdependence of its
parts, that they have argued that it must have arisen quite

suddenly. Dereck Bickerton once even insisted that the most
important aspects of language, in particular its syntax, could only
have come about as the result of a single crucial mutation.

Others, particularly primatologists who have searched for
continuities between ape and human communication, have argued
that language must have developed slowly and incrementally. I
side with the gradualists, not because I want to derive language
from primate calls, but because I believe that this is the way
evolution works.

Wings distinguish birds from reptiles as sharply as language
distinguishies human beings from other primates, and the parts of
a wing are as interdependent as the parts of language, but nobody
would argue that wings were achieved by a single mutation. Of
course, we now have fossils that show us some of the steps by
which front legs evolved into wings, but even without the fossils
we would be certain that there were, once upon a time, animals
that were intermediate between walking reptiles and flying birds.
We will never have fossil evidence for language.

SubQuestion No : 7

Q7 ‘that show us some of the steps’
The underlined word is a/an

1. Adverb
2. Preposition
3. Modal
4. Adjective
Options 1. 1
2.2

3.3
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by selecting the correct/most appropriate
options.

Language is more than simply a means of exchanging
information.

It is also a medium of art, humour, poetry, storytelling and
oratory. It gave our ancestors, as it gives us, a means to display
themselves. Language may have helped our ancestors to
cooperate, but at least as important, it gave them new ways to
compete. With language we have acquired a powerful new tool
with which we can try to outmanoeuvre and out manipulate one
another. If you want to engage in social climbing, you had better
hone your language skills.

I want to understand the emergence of language as one aspect of
evolution of our minds, by which our minds can build
increasingly complex social relationships. The better we
understand the evolution of our minds and social relationships,
the better we will understand the emergence of language.

The question of whether language emerged gradually or suddenly
has generated more debate than it should have, among students of
language evolution. Some, particularly linguists, are so impressed
by the uniqueness of language and by the interdependence of its
parts, that they have argued that it must have arisen quite

suddenly. Dereck Bickerton once even insisted that the most
important aspects of language, in particular its syntax, could only
have come about as the result of a single crucial mutation.

Others, particularly primatologists who have searched for
continuities between ape and human communication, have argued
that language must have developed slowly and incrementally. I
side with the gradualists, not because I want to derive language
from primate calls, but because I believe that this is the way
evolution works.

Wings distinguish birds from reptiles as sharply as language
distinguishies human beings from other primates, and the parts of
a wing are as interdependent as the parts of language, but nobody
would argue that wings were achieved by a single mutation. Of
course, we now have fossils that show us some of the steps by
which front legs evolved into wings, but even without the fossils
we would be certain that there were, once upon a time, animals
that were intermediate between walking reptiles and flying birds.
We will never have fossil evidence for language.

SubQuestion No : 8

Q8  ‘Qutmanoeuvre and outmanipulate’ are words for
competition. They can be best seen as

1. Verbs
2. Adjectives of comparison
3. Compound words
4. Both | and 3
Options 1. 1
2.2

3.3
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Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options.

In the life of the Buddha, there are two sides, individual and social. The
familiar Buddha-image is that of a meditating sage, yogin, absorbed and
withdrawn, lost in the joy of his inner meditation. This is the tradition
associated with Theravada Buddhism and Asoka’s missions. For these
the Buddha is a man, not God, a teacher and not a saviour. There is the
other side of the Buddha’s life. when he is concerned with the sorrows of
men, eager to enter their lives, heal their troubles and spread his message
for the good of the many: ‘bahu-jana-hitayva’.

Based on this compassion for humanity, a second tradition matured in
North India under the Kusanas and the Guptas. It developed the idea of
salvation for all, the discipline of devotion and the way of universal
service.

All forms of Buddhism, however, agree that the Buddha was the founder;
that he strove and attained transcendental wisdom as he sat under the
Bodhi tree, that he pointed a way out from the world of suffering to
bevond, the undying, and those who follow the path of liberation may
also cross over to the wisdom bevond.

SubQuestion No : 9

Q9 ‘absorbed and withdrawn’ is a phrase that hints towards
kind of truth.
L. Poetic
2. Oxymoronic
3. Fusion
4. Dualistie
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options.

In the life of the Buddha, there are two sides, individual and social. The
familiar Buddha-image is that of a meditating sage, yvogin, absorbed and
withdrawn, lost in the joy of his inner meditation. This is the tradition
associated with Theravada Buddhism and Asoka’s missions. For these
the Buddha is a man, not God, a teacher and not a saviour. There is the
other side of the Buddha’s life, when he is concerned with the sorrows of
men, eager to enter their lives, heal their troubles and spread his message
for the good of the many: “bahu-jana-hitava’.

Based on this compassion for humanity, a second tradition matured in
North India under the Kusanas and the Guptas. It developed the idea of
salvation for all. the discipline of devotion and the way of universal
service.

All forms of Buddhism, however, agree that the Buddha was the founder;
that he strove and attained transcendental wisdom as he sat under the
Bodhi tree, that he pointed a way out from the world of suffering to
beyond, the undying, and those who follow the path of liberation may
also cross over to the wisdom bevond.

SubQuestion No : 10

Q10 Which one from the following options is an antonym of
‘transcendental’?

1. spiritual
2. aerial
3. ethereal
4. mundane
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options.

In the life of the Buddha, there are two sides, individual and social. The
familiar Buddha-image is that of a meditating sage, yvogin, absorbed and
withdrawn, lost in the joy of his inner meditation. This is the tradition
associated with Theravada Buddhism and Asoka’s missions. For these
the Buddha is a man, not God, a teacher and not a saviour. There is the
other side of the Buddha’s life, when he is concerned with the sorrows of
men, eager to enter their lives, heal their troubles and spread his message
for the good of the many: “bahu-jana-hitava’.

Based on this compassion for humanity, a second tradition matured in
North India under the Kusanas and the Guptas. It developed the idea of
salvation for all. the discipline of devotion and the way of universal
service.

All forms of Buddhism, however, agree that the Buddha was the founder;
that he strove and attained transcendental wisdom as he sat under the
Bodhi tree, that he pointed a way out from the world of suffering to
beyond, the undying, and those who follow the path of liberation may
also cross over to the wisdom bevond.

SubQuestion No : 11

Q11 pick out the incorrect statement-

1. Two schools of Buddhism emerged, one saw the
Buddha in human form, other as a divine form.
2. Idea of salvation is only hidden under the mysticism
of Bodhi tree.
3. The Buddha founded Buddhism.
4. Salvation can be attained by anyvone who follows the
path of the Buddha.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 2




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options.

In the life of the Buddha, there are two sides, individual and social. The
familiar Buddha-image is that of a meditating sage, yvogin, absorbed and
withdrawn, lost in the joy of his inner meditation. This is the tradition
associated with Theravada Buddhism and Asoka’s missions. For these
the Buddha is a man, not God, a teacher and not a saviour. There is the
other side of the Buddha’s life, when he is concerned with the sorrows of
men, eager to enter their lives, heal their troubles and spread his message
for the good of the many: “bahu-jana-hitava’.

Based on this compassion for humanity, a second tradition matured in
North India under the Kusanas and the Guptas. It developed the idea of
salvation for all. the discipline of devotion and the way of universal
service.

All forms of Buddhism, however, agree that the Buddha was the founder;
that he strove and attained transcendental wisdom as he sat under the
Bodhi tree, that he pointed a way out from the world of suffering to
beyond, the undying, and those who follow the path of liberation may
also cross over to the wisdom bevond.

SubQuestion No : 12

Q12 pahu-jana-hitava’ i.e. the good of the many is part of
side of Buddha.
1. social
2. individual
3. disciplinarian
4. liberating
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ

Status : Answered

Chosen Option : 1




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options.

In the life of the Buddha, there are two sides, individual and social. The
familiar Buddha-image is that of a meditating sage, yvogin, absorbed and
withdrawn, lost in the joy of his inner meditation. This is the tradition
associated with Theravada Buddhism and Asoka’s missions. For these
the Buddha is a man, not God, a teacher and not a saviour. There is the
other side of the Buddha’s life, when he is concerned with the sorrows of
men, eager to enter their lives, heal their troubles and spread his message
for the good of the many: *bahu-jana-hitava’.

Based on this compassion for humanity, a second tradition matured in
North India under the Kusanas and the Guptas. It developed the idea of
salvation for all. the discipline of devotion and the way of universal
service.

All forms of Buddhism, however, agree that the Buddha was the founder;
that he strove and attained transcendental wisdom as he sat under the
Bodhi tree, that he pointed a way out from the world of suffering to
beyond, the undying, and those who follow the path of liberation may
also cross over to the wisdom bevond.

SubQuestion No : 13

Q13 ‘away from the world of suffering to a beyond, the
undying...’ On the basis of the passage, pick the most
appropriate answer that qualifies ‘beyond’?

1. Infinite
2. Permanent
3. Other-worldly
4. Dynamic
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options.

In the life of the Buddha, there are two sides, individual and social. The
familiar Buddha-image is that of a meditating sage, yvogin, absorbed and
withdrawn, lost in the joy of his inner meditation. This is the tradition
associated with Theravada Buddhism and Asoka’s missions. For these
the Buddha is a man, not God, a teacher and not a saviour. There is the
other side of the Buddha’s life, when he is concerned with the sorrows of
men, eager to enter their lives, heal their troubles and spread his message
for the good of the many: “bahu-jana-hitava’.

Based on this compassion for humanity, a second tradition matured in
North India under the Kusanas and the Guptas. It developed the idea of
salvation for all. the discipline of devotion and the way of universal
service.

All forms of Buddhism, however, agree that the Buddha was the founder;
that he strove and attained transcendental wisdom as he sat under the
Bodhi tree, that he pointed a way out from the world of suffering to
beyond, the undying, and those who follow the path of liberation may
also cross over to the wisdom bevond.

SubQuestion No : 14

Q14 Based on this compassion for humanity, a second tradition
matured in North India under the Kusanas and the Guptas.
The underlined part of the sentence

1. is a clause.
2. is a phrase.
3. is the main subject of the sentence.
4. is trailing part of the previous sentence.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Directions: Read the passage given below and answer the questions that
follow by selecting the correct/most appropriate options.

In the life of the Buddha, there are two sides, individual and social. The
familiar Buddha-image is that of a meditating sage, yvogin, absorbed and
withdrawn, lost in the joy of his inner meditation. This is the tradition
associated with Theravada Buddhism and Asoka’s missions. For these
the Buddha is a man, not God, a teacher and not a saviour. There is the
other side of the Buddha’s life, when he is concerned with the sorrows of
men, eager to enter their lives, heal their troubles and spread his message
for the good of the many: “bahu-jana-hitava’.

Based on this compassion for humanity, a second tradition matured in
North India under the Kusanas and the Guptas. It developed the idea of
salvation for all. the discipline of devotion and the way of universal
service.

All forms of Buddhism, however, agree that the Buddha was the founder;
that he strove and attained transcendental wisdom as he sat under the
Bodhi tree, that he pointed a way out from the world of suffering to
beyond, the undying, and those who follow the path of liberation may
also cross over to the wisdom bevond.

SubQuestion No : 15

Q15 Theravada school of Buddhism associates itself with the
tradition of the meditating Buddha figure because

1. it believes in promoting a universal belief in the

power and perception of the Buddha.

they approach the Buddha without attributing

theological and metaphysical qualities to him.

3. their tradition sees in the Buddha, a mystical form of
God.

4. for them, the Buddha is an incarnation.of the saviour
who holds the message of bahu-jana-hitaya.

12

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.16  In a language classroom what would be more applicable?

Options 1.

b i

1

2.2
3.3
4.4

oW

association between forms and meanings in target language

explanation of forms, grammar rules through drills in learning a language
extensive use of textbook

extensive practice through translation

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.17 In which hypothesis it is assumed that students know the grammar rules and remember with mindfulness?

Options 1.

o =

1

2.2
3.3
4.4

. Natural order hypothesis

. Monitor Hypothesis

. Input Hypothesis

. Affective filter Hypothesis

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.18  Ateacher of class VII presents to learners language chunks like ‘T am OK”, *According to me’, “What is the matter” and

50 on.

‘What approach would you believe she adopts in her classroom?

Options 1.
2.
3.
4.

. Communicative approach

Grammar in context

. Structural approach
. Lexical approach

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q19 How is India’s language-in-education Policy known as?

1. Multilingual education
2. Three language formula
3. Language-in-education curriculum
4. Education-in-language Policy
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 2

Q.20 A question which enables learners to move beyond the given inputs like reading text is known as?

1. Inferential question
2. Summative question
3. Extrapolative question
4. Creative writing question
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.21  Ateacher of class VIII divides her class into groups of five and allots cross-content theme as per the interest of the

groups.
The groups are to collect idea, information, interview people and interpret and write report. What is this engaging
activity known as?

1. Project Work
2. Assignment
3. Group Work
4. Portfolio Work.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q22 Ppjcture comprehension is effective to promote

1. listening skill
2. speaking skill
3. reading skill
4. writing skill
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 2

Q.23  [n a classroom, a student was talking with peers in Hindi.
When her teacher called. she immediately replied her in English. This is an example of

1. Code switching
2. Code-mixing
3. D-Code
4. Code expansion
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.24  Which one of the following is NOT true of Translanguaging?

It permits translation between languages.

Mixing Wmdsﬁom different | agesmﬂ:esame sgm;md written expression.
It promotes multilingualism

It is limitifig students to use one language.

1

)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.25 Consider the statements A and B
A: Academic language is characterised by linguistic features which are specific to academic disciplines.
B: Academic language includes grammar, vocabulary. discourse, features across the domains of language.

A is right.

B is right.

Aand B are right.
Aand B are wrong.

B 03 B,

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q26 The whole language movement came as a reaction of

1. top-down reading theories
2. bottom-up reading theories
3. concrete to Abstract language teaching
4. known to unknown language teaching
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.27 Which of the following is a type of test that measures the language skills naturally and requires logical explanation?

1. Reading Comprehension
2. Subjective

3. Objective

4. Multiple Choice Questions

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.28 To have an effective communication, which one of the following the teacher should NOT take into consideration?

1. Socio-economic status of receiver
2. Knowledge of receiver

3. Interest of receiver

4. Culture and solid practices of receiver

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q29 YWhich one of these is NOT a characteristic of a language?

1. Language is arbitrary.
2. Language is static.
3. Language is based on cultural experiences.
4. Language is an acquired or learnt behaviour.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.30 Some students of class VI are suffering with learning disabilities. Being a teacher of that class, how would you make the
class inclusive?
a) By assigning them in one special group.
b) By presenting the content with the help of support materials.
¢) By mixing them with all students of class.
d) By involving them in classroom responsibilities.

L. (a), (b) & (d)
2. (a). (c) & (d)
3. (b), (c) & (d)
4. (b). (c) & (a)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




